Geometry CC

4.1 Review **Don't just stop at this review**
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Apply the transformation M to the polygon with the given vertices. Name the coordinates

of the image points. Identify and describe the transformation.

1. Mx,y) > (x=1,y+2)

A3, 10), B(-6, 4), C(-1, -4)
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_ Determine whether the polygons with the given vertices are congruent. Support your

answer by describing a transformation.

3. E(-4,1), F(-2,-1), G(4, -3)
W(-1, -3), X(1, -5), Y(7, -7)
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O, )= (x+3, B—'—\\ |

4. K(=3, 1), L(1, 8), M(~4, —1)

T(-7.5, 2.5), R(2.5, 20), S(-10, -2.5)
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Geometry CC : Name:
4.1 Review **Don’t just stop at this review** Date: Period. =

Prove that the polygons with the given vertices are congruent.
5. A(1, 2), B(4, 1), C(3, 1) and D(4, -2), E(7, -3), 7(6, -5)
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6.2, 2), K1, 4), L(5, -2), M(2, ~2) and Q(2, 2), R(4; 1), S(=2, -5), T(-2,-2)
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Apply the transformation M to the polygon with the given vertices. Name the coordinates
of the image points. Identify and describe the transformation.

7.Mx, y) > (X, -y) > (x+4,y) 8. M(x, y) > (=x, =y) = (=X, ¥)
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